SINDHI HIGH §CHOOL, BANGALORE
HALF YEARLY EXAMINATION 2021-22
SUBJECT: ENGLISH

=

Class VII Max Marks : 80
Date: 09:10:2021 Reading Time : 15 min
No. of sides: 7 Writing Time : 2 hrs.» min

General Instructions: -
* This paper is divided into two parts: - A and B.
* All the questions are compulsory.
¢ Separate instructions are given with each section and question, where ever
necessary. Read the instructions carefully and follow them faithfully.
¢ Adhere to the word limit. .
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Part- A (40 M)
READING - (20 M) -

Q1 Read the passage carefully and answer the questions that follow- (10M)

1. We are what we eat. The type of food we eat has long term effects on us. Food which is
tamasik (i.e leftover food) is bound to generate stress and it upsets the human body. Mouth
fresheners should be avoided. Drinking hot tea and steaming food is advised. It is wrongly
understood that drinking coffee in moderation relieves stress. Simple meals with one or
two food items is preferable.

2. We tend to eat almost three to four times, the quantity of food we actually eat is more
than what we need. The “food actually eats one up”. A lot of energy is wasted for digesting
the excess food eaten., '

3. It is always good to eat less than your “full stomach” capacity. Besides, one should avoid
eating unless one is really hungry. One should not sip water between meals. Water, taken
an hour before or after helps in digestion.

4. Excessive of everything is bad. Eating excessive salt, sugar, fried items develops rajasik
tendencies, which results in excessive craving for a particular taste.

5. It is good to have regular food habits. Workaholics do not find time to eat food at proper
meal time, which invites stomach disorders. Food should be enjoyed with total peaceful
mind for you to be charged up.

Answer the following by choosing the most appropriate option:- 1x10= 10

i) Pick out the word which means ‘control’ (papa 1):-
a) preference bjdrinking

) steaming djmoderation
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" ii) Tamasik food influences a person by:-
* a) Generating stress.
b} Making a person strong.
¢} Generating large amount of energy.
d) Making a person very bold.

1ii} Identify the statement which is not correct:-
a} Food has long lasting effect on humans.
b) Coffee drinking helps to relieve stress.
c¢) We are what we eat.
d} Simple food with one or two items is sufficient.

iv) ‘Food actually eats one up’. This means:-
a) Digestion takes too long.
b) A lot of energy is wasted to digest food.
¢} Food protects our body.
d) Person always remain healthy.

v) Rajasik tendencies are due to -
a) Dieting on fried food.
b) Less use of spicy food.
¢} Being very particular about taste.
d} Little of everything.

vi) Here the word ‘Charge’ means to :- (para-5)
a) pay price or fee
b) attack
c) feel full of vigour
d) add currency

vii} According to the para (1) should be avoided.
a) Fresheners, b) hot tea,
¢) warm food, d) simple food

viii} The word “workaholics means :-
a) who spend time in some works or the other.
b) Person who waste their time.
¢} Persons who work regularly.
d) Persons who works excessively.

ix) Pick out the word which means “lavish”:-

a) excessive b) particular c) tendencies d} develops
x) Water taken before and after meals is good for ;

a) digestion b) full - stomach capacity

c} hungry stomach d) stomach disorders
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Q2 Read the passage and answer the quegtions given below: (10M)

1. The Indian Premier League (IPL) is a professional Twenty20 cricket league in India
contested during April and May of every year by 8 teams representing 8 cities of India. The
league was founded by the Board of Control for Cricket in India (BCCI) in 2008, and is
regarded as the brainchild of Lalit Modi, the founder and former commissioner of the
league. IPL has an exclusive window in ICC Future Tours Programme.

2. The IPL is the most-attended cricket
league in the world and in 2014 ranked
sixth by average attendance among all PR - S

sports leagues. In 2010, the IPL wn YT ' Y i
became the first sporting event in the | e 3 | e ri
world to be broadcast live on YouTube. T
The brand value of IPL in 2018 was STyl
$6.3 billion, according to Duff & |
Phelps. According to BCCI, the 2015

IPL season contributed $182 million to BE mecom, w v SO
the GDP of the Indian economy. Rt _ 08" | R o

B e T s e i
3. There have been eleven seasons of [PEHRILToli YL Lo

the IPL tournament. The current IPL ot
title holders are the Chennai Super Kings, who won the 2018 season.

Read the passage and choose the most appropriate option given below :-

{1x10=10)
i) Indian Premier League is considered the brainchild of--------c=cecmarv
a) Lalit Modi b} Lalita Modi ¢) Lohith Medi  d) Lasith Modi
ii} How many seasons of IPL have been played till 20187
aj 10 b) 12 cj 11 d 9
iti) The meaning of the word “professional” is g
a] Player b) trainer c¢) Master d) coach

iv) In which year did the IPL become the first sporting event to be breoadcast
live on an online platform?
a) 2011 b} 2010 c) 2008 d 2012
v) According to Duff & Phelps, the brand value of IPL in 2018 was :-
a) 115 billion b)$182 million c¢) ¥6.3 billion d) $6.3 billion

vi] Identify the statement which is not correct.
a) This contest happens during every April and May.
b) It is founded by Board of Control for Cricket in India.
¢) The Indian Premier is an unprofessional cricket league in India.
d) The eight teams represent eight cities of India.

vii) The word ‘exclusive’ means:-
" a) alone  b) special c)cruel d)worthless
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" viii) There are teams playing IPL tournament.

a) 21 b) 8 c) 7 djll

ix) team won the title in the IPL 2018.
a) Royal Challengers b) Rajasthan Royal
¢) Chennai Super Kings d) none of the above

x) Look at the given table. Identify the statement which is incorrect regarding the match
dated 15 April, 2018:-

a) The match is scheduled on a Sunday.

b} Chinnaswamy Stadium, Bengaluru is the venue of the match.

¢} The match to begin at 4:30 pm.

d) The contest is between Royal Challengers Bangalore and Rajasthan Royals.

(Literature 10 M)
Q3 Read the extract based questions and answer the follewing: {2x5=10})

“When he clattered off in his new chappals, she said “Mridu, come in and have some tiffin.
Honestly, how do you children think of such things? Thank God your Gopu Mama doesn'’t
wear his chappals to work” She suddenly started laughing’. ot

i) Who clattered off with the new chappals?
a) Gopu Mama b} The beggar c} The Music Master d) Thatha

ii) Rukku Manni started laughing because :-
a) She was thinking what she would do when Gopu Mama asks for his chappals.
b) Gopu Mama doesn’t wear chappals to work.
c) Gopu Mama was always in great hurry to do things.
d) Gopu Mama throws off his shoes and socks and get into his chappals.

iii) What does Rukku Manni mean when she said how the children could think of such
things?
a) Stealing milk from the kitchen to feed the kitten.
b) Arguing with elders of their family for every little thing.
c) Hiding a kitten in the backyard of the house.
d) Giving away the Music Master's chappals to the beggar.

iv)The word “suddenly” isa /an :
ajnoun bjverb cjadjective djadverb

v} The synonym of the word “honestly” is .
a) naughty bjrush c)sincerely d)curious

Q4 Read the extract from the poem and answer the following :- {1x5=5)
«There’s a dusty old window around at the side

With three cracked panes of glass.
I often think there’s someone staring at me
Each time that [ pass,
I'll peep through that window one day.”
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i} According to the poet, is peeping through the window,
) a) Narrator b} his big brother ¢) an unknown person d) a ghost

il) What did the poet notice about the glass panes?

a) was dirty b) was smoky

¢) had creaky hinges d) had three cracked panes of glass,
1ii) was the resolution of the poet
a) Elder brother was hiding there,
b} A Stranger was trapped inside.
¢) to peep through the window one day.
d) The shed was haunted by a ghost.

iv) An adjective from the above lines is:- .
a) Peep b) window cldusty d} panes

v) A word that means “to look at someone is ¢
aj old b) dusty ¢} pass d)stare

(GRAMMAR) 10M

Q5} Complete the paragraph by choosing the Correct answers from the given
options. {¥2 x6=3)

Jim Corbett National Park wags a) called Halley National park. It was named after the
naturalist and b) hunter Jim Corbett. The newly constructed roads make the drive

view of the river. Many animals come to graze and drink water here. A ¢) tiger
can be seen among the tall grasses. The view of f) elephants make it 4 perfect day
for any visitor.

a) i originally ii) suddenly iti) immediately iv) quickly

b} i)lazily i} legendary iii} luxury iv) lengthy

c} i} capable ii} sizable iii) measurable 1v) pleasurable
d) i) rich ii) fantastic iii) grasslangd v} renowned
e) i) diverse it) natural ili) majestic Iv) marshy

f) i) controlling 1i) spoiling iii} strolling iv) spilling

Q6) Complete the paragraph using the correct forms of verbs - (¥a x8=4)

Mukesh Ambani Eg.__ (be) (am, is, am are) an Indian billionaire and the chairman
of Reliance Industries Ltd.He(a) {be) , born on 19 April 1957, to Dhirubhaj
Ambani and Kokilaben Ambani. MukeshAmbanj (b)__(live) only briefly, in Yemen,
because his fatherfe)__ (decide)to move back to India to start a trading business that
mainly(d) __ (focusjon Spices and textiles. His family lived in a small two-bedroom
apartment in, Mumbaij. His family's financial status slightly (e)__ (improve)when they
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{n (movejto India, but Ambani still resid
" transportation. His father later (k)

=2 R U~ L

-

Qé in a small building and (g) (use)public
(purchase)a huge bungalow called 'Sea Wind'.

i) were ii) has iil) was iv) is
i) lives ii) lived iii) live iv) alive
i) decide ii) decidedly iii) decides iv) decided
. i) focussed it) focuss iit) focuses iv) focus
i} improves i) improved iii) improving iv) improving
ijmove ii) moving iii) moved iv) moves
i} using ii) used iti) uses iv) use
i) purchases ii} purchased iii) purchasing iv) purchase

Q7 Choose the correct statement made from the jumbled words, from the
alternatives given below :-

Eg : missed /school/I my/bus
i. My school bus missed I
ii. 1 missed my school bus.
iii. I my school bus missed.
iv. I missed school bus.
Ans: ii) I missed my school bus.

A.)School/ teaches/ English/Mrs. Sharma/in

i. Mrs. Sharma in a school teaches English.

i, Mrs.Sharma teaches in a school English.
iti. English teaches Mrs. Sharma in a school
iv. Mrs. Sharma teaches English in school

B} Rooms/ school/my/are/fifty /there/in
i. Are there fifty rooms in my school.
ii. There are fifty rooms in my school.
iii. Fifty rooms are there in my school.
iv. There are my fifty rooms in school.

C) Playing/ students/in/ are/ ground/ the /cricket
i. The cricket are playing students in the ground.
ii. Students are playing cricket in the ground.
iii. Students are in the ground playing cricket.
iv. Students are playing in the ground cricket.

(1x3=3)
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" Q8) Read the given information and write the bio-sketch of Neeraj Chopra in about 80-
100 words. Do not forget to include a suitable title. (S)

Full Name: Neeraj Chopra

Born 1 2441 December 1997(age 23) Panipat, Haryana, India
Mother’s Name: Saroj Devi

Father’s Name: Satish Kumar

Olympic medal: Gold medal

Game: Javelin throw

Best throw record: 88.1 meters

Military career: Soldier in Indian army

Q9) Complete the story beginning with the following words in about 80-100 words.

Give a suitable title. (S)

“A picnic was just the thing for me and my friends”*

Q10 Answer the following in 20-30 words:- {2X4=8)

i)

ii)
iti)
iv)

What are the three things Gopal did before he went to buy the Hilsa-fish?
Why is it good to have rebels around us?
Write a brief account about the queen ant in a colony.

‘Finding good twigs for Kari took a lot of time’. Give reasons to support your
answer,

Q11 Answer the following in about 40- 50 words:- (4x3=12)

1.

ifi.
v.

How was the evil farmer punished by the daimios?

Write a brief character sketch of the king who went to the woods to meet the wise
man

‘Ant is called a tiny teacher’. Explain the statement in detail.

‘Camel is called the ship of the desert’. Explain this statement in detail.

Answer the following in detail in 100-120 words (5x2=10)

Q12 ‘Muko, the pet remained faithful to his master’? Explain in detail with respect to the
chapter “The ashes which made the trees bloom”.

Q13 “There was sudden and wonderful change in his soul”.... Imagine yourself to be
Soapy. Express your feelings in the form of diary entry, as to why there was a sudden
change in your soul. (Word limit: 100-120})

khAhdhdhhhkbhhhbhhkhdhhhhkidddhhdkhkhkdhhhhrdhuikhrird
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Fill the blanks with suitable pronouns which given in the box.
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GENERAL INSTRUCTIONS:

Write your name, roll number, class & section, date and subject
clearly in the answer script.

Write the page number on the right-hand side top corner of each side of
the paper.

All questions are compulsory

This question paper contains two parts A and B.

L 3

> Part A consists of two sections I and II,

Section I has16 questions and Section II has 4 case study- based
questions.

» Part B - Question No.21 to 26 are very short answer type questions of 2
marks each. Question No.27 to 33 are short answer type questions of 3
marks each. Question No.34 to 36 are long answer type question of 5 marks.

Part - A
SECTION - 1
Section 1 has 16 questions of 1 mark each. léex1=16
1. Where does (-1) lie on the number line?
: ; 24
2. Write the simplest form of : i
3. What is the product of 2.345 x 1007
. ; 3

4. Write the standard form of the rational number: -

5. Find the mean of the first three whole numbers.

6. Find the measure of angle x

. X a1° . e

7. Can aright-angled triangle have an obtuse angle? Justify,

8. If-3m = 72; find the value of ‘m’,
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9. 31256 x =-31256

2
10. Express 14 casan improper fraction.

12. The supplement of an angle is itself. Find the measure of the angle.
13. (-21) - (-21) =

14. Find A and B L

A
el
—‘i—
it
pa

15. The teacher asks the students to construct an isosceles right-angle.-
triangle PQR, right angled at Q. Draw the relevant triangle. (do not
construct)

16. Subtract (-9y2 + 3y} from (-14y2 - 3y)

SECTION - II 4x4=16
17. Four friends visited different places during their vacation to take a
break from their routine. The places they visited is shown on the
number line. Look at the number line and answer the questions that
follow.(Temperature in °C)

A g C D

Lt 1 T
Ty :i;;::::!l#ilﬁ

-8 0 l +8 ilGl +24
Ooty Bengaluru
Y Shimla
Y Kashmir
i) Which is the coldest place?

a) Ooty b) Shimla
c) Kashmir d) Bengaluru
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ii) The temperature difference bgtween the hottest and coldest
place is oC

a 12 b) 26
c) 20 d) -6
iii) The temperature (in °C) in descending order is:
a) 20, 4,-2,-6 b} -6, -2, 4, 20
c) -2,-4, -6, 20 d) 20, -6, 4, -2
iv) If the temperature of Shimla is increased by 19, its temperature
will be oC
al -3 b) -1
cg O d 1

18. Ram purchased 4830 cm of curtain cloth ghd 3627cm of frock
material during a festival season.

2
i) If 3 of frock material was used to stitch frocks. The length of

material used to stitch 2 frocks is
a) 2418 cm b) 1609 m
c) 1254 cm d) 2418 m

1
ii) If 3 of the material is used to stitch curtains, the length of the material
used is

a) 1209 m bj 1209 cm
c} 1610 cm d) 1610 m

iii) Approximately how many curtains can be made if each curtain
measures 600 cm?
a) 8 b) 6
¢} 12 d 14

iv) Approximately how many frocks can be made by using 300 cm per
frock?

a) 9 b) 8
¢) 10 d 12

19. Renu and Manu were playing the board game snake and ladder. They

used dice to play. What is the probability of the number shown on the
dice to be:
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i} an odd number?

1 Y
a) 3 g
1 g4 1
°) 2 b %
ii) an even number?
1 1
a) 5 bj) =
1 1
c) 5 d) =
lii) an even prime number?
1 1
a} P b) 5 “
1 g E
e} 2 )3
iv) getting 1? -
1 o L
4) 3 b3
1 g 1
X 5 )%

20. Ramaiah and Shamaiah has land measuring 2x2- 3x + 16 and
3x2? + 10x — 19 respectively. They want to fence their garden using
* posts and boards as shown in the figure.

1 post 2 posts 3 posts
1} The general rule for number of posts and board of the fence is written
as:
a) 4n-1 b) 2n-1
c) 2n - 2 d} 2n
i) The sum of the areas of their field is:
a) 5x2 + 7x-3 b) -5x2-7x-3
c) Sx2-7x+ 3 dj oxX2 - 7x -3
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iii)  If the number of posts used ig 23, then the numbers of boards
required will be
a) 42 b) 48
c) 44 d) 26

iv) The difference in the area of their land is:

a) 2x2 + 16x - 35 b) x2?+ 13x -35
¢) 5x2 + 6x - 35 d) 5x2-7x+35
Part -B
; SECTION - I 2X 6=12
21. Add: _T and -5:55- .

22. Divide 2.25 by 0.5

3
23. Draw the number line and represent the rational number — >

24. Find the unknown angles and justify the
measures.

25. Draw a parallel] line AB to the given line PQ passing through a point
X outside the line.

26. What should be added to a2 +2ab +b? to obtain 2a? - 6ab — 4b??
SECTION - IV 3IX7=21

1 2
27. Write 3 rational numbers between 5 and -_5,-

28. Find the mean, median and mode for: 2,3,5,3,5,7,5,5,2
294 Find the value of : {(18) x (-2)} + {(18) x (2)} +~ (-36)
b. Determine the integer whose product with (-1} is (-49)

¢, Find the product using suitable property:
(13) x (-54) + (-54) x {(-23}
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30. Data given below is showing the runs scored by two teams in four
cricket matches. Draw the double bar graph.

Teams I 11 111 A
A 30 40 50 60
B 70 20 40 60

31. Construct a triangle ABC, given AB = 7cm, BC = 6cm and
angle B = 650

32. Do as directed referring to the given figures:

c) = P
> q
» P
- : - l\ — G
a} Is L{ |m? b)  Findy (p|iq) ¢) Findx(p||g
33.
a) Write 2 more rational numbers to complete the series:
-2 -4
T ’ —8— ’ ’ -

-8 24 :
b) — and 5" Do they represent same rational numbers? Justify

-1 ~-1 -1 =1
¢} Arrange — , —, —= , — in ascending order.
) B 10718 4’ 22 &
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SECTION -V 3X5=15

34. AE

1\
oY

D

a) Observe the figure and identify the following angles:
1) Adjacent supplementary angles.
i1)  Adjacent angles whose sum is 909,

b) Can two obtuse angles be supplementary? Justify.

c) One of the angles in a linear pair is 92.59. Find the measure of the
other angle

35.

a) The height of Sonam, Ranu and Shanu are 161.23 cm, 158.21 cm
and 171.23 cm. respectively. Arrange their heights in descending
order and find their total height.

b) Expand : 725.034.

¢} Multiply: (3.25 x 1.4) and subtract the product from 12.8 .

36.

a) Add 31x2 +14xy +4y? and 19x2 - 4xy — 2y? and subtract the sum

from 57x2? - 31xy -~ 19y2.

b} Draw the tree diagram to represent the algebraic expression:
-3ab? + 9ab -30a.

c) Find the value of p2-pq + 6pq when p = 0 and q = (-2).

kEREEREXEERRRRRERERRE KRR AT LT R hd
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ifi.

7

vi.

vii.

GENERAL INSTRUCTIONS:

The question paper comprises four sections, A, B, C and D. There are 36 questions

in the question paper. All questions are compuisory.

Section A- all question numbers 1 to 20 carrying one-mark comprises ofMCQ, VSA type and
the Assertion — Reason type questions. They are to be answered in one word or in one
sentence. -

Section B- question numbers 21 to 26 short answer type questions, carrying 2 marks each.
Answer to these questions should not exceed 30 to 50 words. |

Section C- question numbers 27 to 33 long answer type questions carrying 3 marks each.

-Answer to these questions shouid not exceed 50 to 80 words.

Section D- question numbers 34 to 36 long answer type questions carrying 5 marks
each. Answer to these questions should not exceed 80 to 120 words.

Answer should be brief and to the point. Also, the above-mentioned word limit be adhered
to as far as possible.

There is no choice in the question paper. All questions are compulsory.

SECTION- A
QUESTIONS |, mar
NO ' ks
Define element. 1
Write the valencies of the underlined ions or radicals in the given compounds:
(i} Zns i) Mgdi,
1
| what is the number of valence electrons in oxygen atom:
’ (32 (b)4 ()6 (d)8 1
List two situations that generate wind currents on the earth 1
i What is a tornado? 1
When we pour cold water over the can half-filled with hot water, the can slowly 1
gets crumpled. Why?
Mention the use of a kink in a clinical thermometer. 1
What is the direction of flow of heat when you touch a cold object? Justify. 1
A clinical thermometer has the range between 35°C to 42°C. Give reason. 1
10 | Name the respiratory organs in insects and fishes. 1




11

What is canopy?

12

Why do we get relief from cramps after a hot water bath or massage?

13

How can the presence of an animal be recognized in the forest?

For question numbers 14, 15 and 16, two statements are given- one
labelled Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c) and (d) as given below:

a) Both A and R are true, and R is correct explanation of the assertion.

b) Both A and R are true, but R is not the correct explanation of the
assertion.

c) A is true, but R is false.

d) A is false, but R is true.

14

Assertion [A]: The atomic number of Fluorine is 9.
Reason [R]: The atomic number of an atom is the sum total of the number of
protons and neutrons present in the nucleus of the atom.

15

Assertion [A]: Humans are not completely aerobic.
Reason[R}: They produce lactic acid anaerobically.

—

16

Assertion[A]: Raw materials needed for photosynthesis are carbon d ioxide, water
and minerals. '
Reason[A]: Nutrients provide energy to an organism.

NOTE: Question numbers 17 to 20 contains four sub — parts each.

Read the given passage and answer the following questions from 17 (i) to 17 {iv)

. A forest is a biotic community spread over a large tract of uncultivated land is

predominantly composed of trees, shrubs, herbs and climbers. Forest occupies a
special place in the life and thought of people.

i)

Which of the following is NOT a function of the crown of the trees during the day
time?

a) Absorbs sun’s light

b) Absorb oxygen from air

c) Carry out photosynthesis

d) Form a green cover

(if)

Choose the correct sequence of the components of a food chain given below:
(a) Grass ----> insects ----> frog ----> snake ----> eagle

(b) Grass ----> snake ----> insects ----> frog ----> eagle
{c) Grass ----> eagle -—-> snake ----> insects ----> frog
(d) Grass ----> frog ----> snake ----> insects ----> eagle

{iii)

In the forests there is interaction between
a) Soil and water only

b) Air and living organism only
¢) Soil, water, air and living organisms
d} None of the above is correct




(iv)

The micro-organisms that convert the dead plants and animals to humus are
known as — ‘

a} Primary consumers b} decomposers

¢) predators d) Omnivorous

18

Read the given passage and answer the following questions from 18 (i) to 18 (iv)

Metals are very reactive elements and they react continuously with the air
moisture and the other atmospheric components to form a coating of their
compounds on their surfaces. When iron metal is exposed to the atmosphere, it
forms a flaky coating on its surface called rust. Rusting of iron is one of the major
destructive natural phenomena as it causes a lot of harm to the quality and
strength of the iron metal and thus it needs to be prevented.

(i)

What is the colour of rust formed on the surface of iron:
(a) black (b) brown *
(c) green (d) pink

(i)

The chemical formula of rust is:
(a)FEZOs.XHzO (b)FEzO3
(C)FECla (d) FE(OH)z

(iii)

Rusting can be prevented by:

(i) regularly washing iron objects.

(ii) painting,

(iii) greasing & oiling,

(iv)scraping rusty surface using sandpaper,
(v} heating iron objects strongly.

(@)i, i & v {b} i, ii & iii
(c) ii &iii (d)iv&v
{iv) |45 the process of galvanization, the iron objects are dipped in molten:
(a) Ice (b) Lead
(c) Silver (d) zinc
19 | Read the given passage and answer the following questions from 19 (i) to 19 {iv).

Swachh Bharat Abhiyan is the most significant mission of Indian History. It is a
‘cleanliness drive’ campaign, initiated by the Prime Minister, Narendra Modi on
October 2, 2014, to commemorate the vision of Mahatma Gandhi.

The Swachh Bharat Abhiyan is a national level campaign. It was initiated by the
indian Government to clean all the backward statutory regions, rural and urban
cities and towns. This campaign includes the promotion of health and sanitation
programs in the rural areas, cleaning of roads and streets, construction of
infrastructure and building of restrooms in the rural areas. The overali campaign
was initiated to create awareness among people.

(i)

Which of the following is a part of inorganic impurities of the sewage?
(a) Pesticides {b) Urea
{c) Phosphates (d) Vegetable waste




;i)

A network of big and small pipes under the ground for wastewater management is
known as

(a) sewage (b) sewerage
{c) manhole {d) channel
(iii} | The equipment that removes floatable particles from wastewater is
(a) sludge (b) bar screen
{c) skimmer (d} sedimentation tank

{iv)

Which of the following organisms produce biogas from sludge in the digester tank
of a wastewater treatment plant?

(a) Anaerabic bacteria b) fungi

{c) aerobic bacteria d) protozoa

20

Read the given passage and answer the following questions from 20 (i) to 20 (iv).

The word cyclone is derived from the Greek word ‘cyclos’ meaning the coils of a
snake. Cyclones are storms with swirling clouds, powerfukwinds, and strong rains
that start in the ocean.

(i)

Which of the following are not associated with cyciones:

a) Heavy rains b} strong wind

) sea waves d} volcanic eruptions.
(ii} | The centre of a cyclone is called

a) eye b) neck

¢} afunnel d} Head

(i)

"Water vapour in the atmosphere condenses to form clouds?
From this statement, what can be concluded?

a) The temperature decreases as we go higher.

b} The temperature increases as we go higher.

¢) Pressure increases as we go higher.

d) The atmospheric temperature remains the same.

(iv)

What causes convection currents in air?
a) The revolution of the earth around the sun
b) The rotation of the earth around itself
c) The heat on the surface of the earth
d) The uneven shape of the earth

SECTION B

21

{a) A bunch of seedlings were seen sprouting on a heap of animal dropping in a
forest. How do you think is the seedling benefited from the animal dung?

(b) Mention any two other ways by which seeds benefit from animals in the
forest

22

Define anaerobic respiration and write the word equation for the same.

23

Choose the odd one out from the following sets and justify your answer:
(i} Souring of milk, burning of a candle, melting of ice, ripening of fruits
(ii) Breaking a glass, photosynthesis, making mango shake, switching on the fan.

24

Represent the following radicals with their symbols and valencies:
(i) Phosphate (ii) Ammonium

4




25

rod as shown in the diagram below -

Which one of the pins will fall off the metal rod first? Give reason.

Some pins are stuck to a metal rod with wax and a lighted candle is kept below the i 2

26 | Observe the figure given below and answer the questions that follow: 2
i
Why is the balance of the cups disturbed?
SECTIONC
| 27 [Respiration is a basic characteristic feature of the living forms. Depending on the 3
energy requirement mechanism of breathing varies from organism to organism.
With respect to above, list the basic differences in process of respiration in plants
and animals.
28 | Asha went to visit her grandfather in his village. He was having a serious 3
| discussion with his fellow members regarding increasing agricultural productivity. |
They all were worried about how to increase productivity. Asha told her
grandfather to plant crops like pulses, gram beans etc., for a year then follow the
regular crop.
(a) How will the growth of pulses increase the productivity?
{b) Suggest any other two ways to full fill the nutrient requirement of the plant.
29 |Write any three differences between inhalation and exhalation. 3 |
30 | Afiattened piece of metal, when burnt on the flame produces dazzling white light | 3 .

and forms white powdery Ash. This white Ash when dissolved in water forms a

thick suspension and turns the colour of red litmus to blue.

(i) Which metal is used in the above process.

{ii} Write a formula equation to show burning of the given metal.

(iii} What do you infer by the colour change of red litmus to blue when it is
added to the white suspension.

' (iv) What is formed as product when the white ash is added with water? write

the chemical name and molecular formula of the product.




31

Derive the molecular formula of the follpwing compounds using steps:
(i) Calcium Carbonate (ii) Sodium sulphate

32

While cooking in the kitchen Reema mixed baking soda with a transparent
solution having a strong odor and observed release of a gas in a quick reaction
with a lot of foam and bubbles.,

(i) what do you think the transparent solution would be?

(i) Write a word and formula equation for the above process.
(iii) How would you confirm the gas released in the above process is carbon
dioxide? ?

What are the precautions to be taken while using a laboratory thermometer?

SECTION D

34

An atom is the smallest unit of matter. This consists of three subatomic particles
found in nuclear and extra nuclear region of the atom. An atom is identified by its
atomic number and atomic mass.
(a) Mention the particles found in nuclear and extra nucleus regions of the
atom.
(b} Which subatomic particle carries a negative charge and which one is the
heaviest among all.
(C}The mass of an atom is found to be 24 units. If its nucleus has 12 neutrons,
then provide the following details of the element:
(i) atomic number (ii) number of electrons {iii) identify the element and write
its electronic configuration.

35

(a) Explain the 2 modes of nutrition observed in plants? Give examples for each.
{b) Draw a neat labelled diagram of the stomata.

36

a) Think and suggest some ways to minimize waste and pollutants at their
source, taking your home as an example,

b) Why is air pumped into the clarified water? What is the role of aerobic bacteria

in cleaning of clarified water?
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GENERAL INSTRUCTIONS:
1. Read the questions carefully and answer all the questions
2, Al] questions are compulsory

I. Fill in the blanks with the correct words. 1X7=7
1‘. The AutoSum button is present in the grou}: on the HOME tab.
2. A chart can be described as a column chart drawn sideways.
3. A is a mathematical function that contains cell addresses and

mathematical operators.
4. The character is used for the concatenation of strings.
5. $255 is an example of referencing.

6. The y-axis is also known as the axis.

7. A chart plots data in-concentric circles.

Il. Write T for the true statement and F for the false one. 1)(7:7
1. The error ##### appears if the formula contains an invalid operation.

2. In the order of evaluation, the multiplication operator {*) has priority
over the exponent operator ("}

3. All cells in rows 2 through 5 are referred to as 2:5.

4. If you have typed a formula in a cell, you see the formula in the
Formula Bar when the cell is selected.

5. The Check bution '+ in the Formula Bar works as the Enter key
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6. Excel places the chart in a box in the centre of the worksheet.
7. The Max( ) function is used to find the largest value in a set of values.

. Choose the correct Option 1X7=7

1. Which function in Excel tells how many numeric entries are there?
a) NUM
b) COUNT
¢) SUM
d) CHKNUM

2. The process of arranging the items of a column in some sequence or order is known
as:
a) Arrangein
b} Autofill
¢} Sorting
d) Filtering

3. If you copy the formula = 5C5 to another celi, the result will be
a} The row part remains the same.
b) The column part remains the same.
¢) Both row and column parts will remain the same.
d) Both row and column parts will change.

4. Functions are:
a) The text that u see in the formula bar
b) The largest value in the set of values
¢} Predefined formulas in excel
d) Always started by typing equal to sign in a cell

5. To move a chart to a new worksheet, click the Move Chart option in the group.
a) Data
b) Type
¢) Location
d} Chart Styles
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6. It provides additional information about a data point on a chart.
a) Legend
b) Data label
c) Data table
d) Gridlines

7. Which function is used to add the values of several cells?
a) gross
b) sum
¢) cost
d) Total %

Iv.
a) Name the three types of cell referencing. Explain any one with example 2

b}. Name any four functions in the AutoSum menu, 2

V.  Mandar wants to create a chart for the data given here. But he does not know
which chart is suitable for the data. 2

i. What option should he click in the Charts group on the INSERT tab?

ii. List the steps to create a suitable chart and help Mandar to create one.

| A B C D 3
1 | Students] Testl Test 2 Test 3 Test 4
2 ¢ ! 39 65 | 25 77
3l 98 9 | 78 58
4| 76 7% . 98 96
5 87 88 92 67
6 56 85 59 87
7 68 58 69 96
8 F 9 78 87 89
9 76 B1 | 77 74
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VI.  Pranitha has written the formula = $BS1 * Al in cell C1 as can be seen in the
worksheet given below. 3

i. What will be the resultant value in cell C1?

ii. What will be the values in cells C2, C3, and C4, if you select ce!l C1 and drag
the AutoFill handle through the range C2:C4?

iii. Which type of referencing is this ($8S1 and A1)?

A B C
=$BS1*A1|

R N B0
A N W
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